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QUESTION 1

You have implemented APBR on your SRX Series device and are verifying that your changes are working properly. You
notice that when you start the application for the first time, it does not follow the expected path.

What are two reasons that would cause this behavior? (Choose two.)

A. The application system cache does not have an entry for the first session.

B. The application system cache has been disabled.

C. The application system cache already has an entry for this application.

D. The advanced policy-based routing is applied to the ingress zone and must be moved to the egress zone.

Correct Answer: AB

QUESTION 2

Which IDP rule configuration will send an RST to any new session that meets the action criteria?
A. ip-action block

B. action close-client-and-server

C. ip-action close

D. action drop-connection

Correct Answer: C

QUESTION 3

Your network includes SRX Series devices at the headquarters location. The SRX Series devices at this location are
part of a high availability chassis cluster and are expected to support several UTM features.

Which two statements related to this environment are true? (Choose two.)
A. UTM features can be configured on either of the nodes within the cluster.
B. The chassis cluster must be configured for active/active mode.

C. UTM features must be configured on the primary node within the cluster.
D. The chassis cluster must be configured for active/backup mode.

Correct Answer: AD

QUESTION 4
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The Software-Defined Secure Networks Policy Enforcer contains which two components? (Choose two.)
A. SRX Series device

B. Sky ATP

C. Policy Controller

D. Feed Connector

Correct Answer: CD

QUESTION 5

You are scanning files that are being transferred from the Internet to hosts on your internal network with Sky ATP.
However, you notice that files that are 1 GB in size are not being scanned by Sky ATP.

In this scenario, which two statements are true? (Choose two.)

A. The Sky ATP failback option is set to permit.

B. The Sky ATP engine or the SRX Series device is too busy.

C. The 1 GB file size is larger than the scan size limit for Sky ATP.
D. The Sky ATP policy on the SRX Series device is misconfigured.

Correct Answer: CD
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